FISEEAMBRERAR—YREHER—E  sfew0A128(1)
L2 1 B K & i % B
1 PERIEHBF100m Wk 2F 13700 REMILE—
2 FER1EHBF100m el X 13#34 EETIE—
3 FER1EHBF100m ] 13#60 EEMIEC
1 PER2EHBF100m hE 127048 RETIIE—
2 PER2EHBF100m NI 20 12752 REMILE—
3 HPER2FEBF100m KHRE Sl 12759 ERMI=fR
1 PEREFEBF200m Il HZE 2451 ERETIE ZPER
2 PEREFEBF200m T ) 25892 EATILE R
3 PEREFEBF200m hE 26713 EEHTILE—PER
1 PEREFEBFA400m =8 F— 59%001 EETILE PR
2 PEREFEBFA400m o B 1400740 EATILE PR
3 PEREFEBF400m TriE EEER 15105 IRETIL IR PR
1 FERIFEBF1500m BHZE IRAER 5405728 EBRTMILE —ER
1 HEERIFEBF1500m KH EE 5405728 EBRTILE —FER
3 HEERIFEBF1500m HH E=H 57311#74 EETILE PR
1 PEREFEBFI000m &8 —8B 04307%8 ERETIIE ZPER
2 PEREFEBFI000m R E= 0%y08%)7 EREHTILE—PER
3 PEREFEBF3000m He (55 10 13#5 ERTIE=RER
1 hEREZFEBFESH =8 =— 1m50 EETILE —hER
2 hEREZFEBFES B mE BX 1m35 EETILE —hER
1 PR L FE B FERE AR FX 5m06 EETILE —hER
2 hEREFE B FERB i K— 4m54 JEATHI =R R
3 hEREFE B FERB ERK =H 4m4 1 EEMILE PR
1 FEREFFRFRALE AR Rt 11m11 EBRTMILE —ER
2 PEREFEBFRANE PR B 6m95 EETIIE —hER
3 PEREFEBFANE mE BX 6m09 EETIE —hER
1 hEREFERFU A IAE- | IR L 45m38 EETILE —hER
2 PEREFZERF U vAI20- | A @& 33m11 EBRTILE=FFER
3 PEREFZERFIvAI20- | EE A¥E 26m66 EATILRR AP ER
1 FER1ELF100m =B EmK 14%07 EBRTMILE —ER
2 PR 1 FELF100m RE BRE 14708 ,,Efﬁﬁ’sfﬁ—tlﬂ—“‘?fi
3 FER1ELF100m =K E 14%99 ERTIIE=h%F
1 PER2F X F100m #E ARE 13#72 EBRTIL=FRER
2 PR 2ELZF100m 21l HR 147058 EETILE —hER
3 PR 2EZF100m R BET 14785 IEETILARR PR




L2 1 B K & i % B

1 PERIFEFF100m Bl HEZE 1225 ERETIE ZPER
2 PERIFEHBF100m WA 23 12790 EEHTILE—PER
1 hEREFELF200m AR ¥9h 31713 EEHTIIE—PER
2 hEREFELF200m EE ED 32704 JEATI =R R
3 hEREFELF200m ATE I3 32706 EETILE —hER
1 PR 1 ELZF800m R & 25340783 EEHTIIE—PER
2 R 1 FE L F800m M KT 25347%95 EETILE PR
3 PR 1 ELZF800m KR £ 25348786 EHTILE—PER
1 FER2-3FE L F800m EH tiE 245253 EBRTILE —ER
2 FER2-3FE X F800m AR @F 3714739 EBRTIL =R R
1 hEREFELF1500m R & 553061 EEHTIIE—PER
2 PEREFFLF1500m BH ks 65r20f95 ERTMIE=FER
1 hEREZELF100mH BH BRE 2052 EEHTILE—PER
1 hEREFELFES Bim REER 1m30 EETILE —hER
2 hEREFELFES misE BTy 1m20 EREHTILE—PER
3 hEREFELFES BH BE 1m10 EREHTILE—PER
1 hEREFELFERB =B ZEmK 5m01 EREHTILE—PER
2 PR S FE L FERED BN BHRT 4m45 EREHTILE—PER
3 hEREFELFERB ZR BRix 4m09 EETIIE =R
1 PEREFELFRANE #H RRE 11m22 JEAT I =R
2 PEREFELFRANE 21 R 8m03 EETILE —hER
3 PEREFELFRANE R EP 7m49 JEAT™I =R
1 hPREFELFV vA)IA0- | FHE RRE 45m64 JEAT™I =R
1 INERR 1 EEF50m B K¢ ofr75 EETIRENER
2 INERR1E B F50m &K E ofr83 JEE I = BN
3 INER1EBF50m =5 ME ofho2 AEBTHIL=RE/NNER
1 INER2FE B F50m HR # 8fr84 EETIRENER
2 INER2FE B F50m t8 BEX 8fr88 SEEA I = BN
3 INER2FE B F50m W R 8#,93 JEE I EF/DNER
1 INEIBEFEF50m ERK B 831 EETIAR/NER
2 INERRBEFF50m IR ER 8,59 IRETILE /R
3 INEIBEFEF50m WE EXE 887 JEE I EF/DNER
1 INERAFEBF100m A =& 15891 ERTIIRENER
2 INERAFEFRF100m LR 185 16707 JEE I EF/DNER
3 INERAFEHF100m K R 16776 JEA I = BB/




(=43 1 B K & i % B

1 INERSEFF100m Rk H 15870 ERMILAR/MER
2 INFRSEFF100m iR K& 17733 RETILAR/NER
3 INERSEHF100m Mo X 17754 EETIIAR/NER
1 INER6EFF100m HIR & 15748 SR I = /R
1 INER S EEFZ1000m EHE 158 343549 EBTTIL =R/
2 INERR S EEFZ1000m Pk 3741504 EBRTILAR/NVER
3 INEREFFEFF1000m B RK 34752895 ERTIIRENER
1 INSER S E B F80mH o %1E 13#40 ERVAZTEEHE
2 INER 2 E R F80mH Ht &=& 15%)66 ERTILRENER
3 INER L EBRF80mH BE 2083 ER A= TELEHE
1 INEREFFEFTFESH Hf =& 1m18 ERTILRENER
2 INEREFFEFTFESH Hf EE Om90 EETILARNER
1 INEREFEFFER mE 21& 4m84 ERAS1ZTREESE
2 INEREFE R TFERB ERREBHZE 4m10 EETILARNER
3 INEREFE R FERD &g At 3m47 ERETIE/F/NER
1 |INEREFERF/ A IF LR HER BN 48m20 BRI
2 |INEREZEBFVAIN-LE] HE ZE 47m83 EEVLZTHEEHE
3  |INEREZEBFVAIN-ME| EAKEZE 38m08 EETILARNER
1 INER1 FERZF50m H OBE ofb85 EATIER/NER
2 INERR 1 E R F50m ERR BK 10¥$07 ERACA=7REEHRE
3 INERERFE50m RE HE 10#32 JERTIL=FE/NER
1 INER2EZF50m RH ERE ofP37 EAETIER/DNER
2 INERR2FE R F50m AR B 950 EETIIAR/NER
3 INERR2FE R F50m WA FK ofr63 EHTIISENER
1 INERRBEXF50m iR S 8%095 EETIER/NER
2 INERBERF50m HE Ef 8fbo8 EETIIAR/NER
3 INERBERF50m £k & ofb22 ERCLIZTELHE
1 INERAFEZF100m WT HF 16#00 ERTILREHFNER
2 INEIRAFE R F100m RE B 167038 SR I = RE/NEAR
3 INEIRAFE L F100m Dk 16#070 SR I = RSN
1 INERSEZF100m M 2E 15%60 ERVA=TELHE
2 INERRBEZF100m fEH & 16571 EETIZER/NER
3 INEISE R F100m hE 2t 168072 WY 1oTRE LIRS E
1 INEI6ELF100m ERR % 158057 EETIAR/NER
1 INEREFFELZF200m =25 LE 38#81 ERTIIRENER




(=43 1 B K £ i % m R

1 INEREFFERZF800m MR Bk 245385 EBETIZER/NER
2 INEREZELZFB00m ERK # 24358096 EAMILARNMER
3 INEREFELZFB00m KH HBE 370715 S 1T RE LR RHE
1 INEREZELZFB8OmH b BR 1784 R T I = BB/NVEAR
2 INEREFFEZF80mMH PR BF 28%037 JEETIL=FR/NERR
1 INERERERTFEDHK IMNIL KRR 1m15 EETILRENER
2 INPRERELFES 1 B 1m05 RETIL =R/
3 INEREFERTES B G IY - 1m00 AETIL =R
1 INER SR E R FEB BE fBF 3m53 EETIL= /AR
2 INER SR E LT ERB ZH E¥ 3m29 R T I = BB/NEAR
3 INER SR E LT ERB hE 2t 3m25 S 1T RE LR RRE
1 INEREPELFV AWK MY BE 2E 36m34 EETILERF /MR
2  NEREFELFV AR -ME LR BE 30m27 WY 1T RE LR ERHE
3  NEREZELFVIAPIN-ME  EE B 20m90 S 1T RE LR RRE
1 BF50m L E50m il #5—BA 714 R = FBHET

1 5077 ~ 607% K i 55 F1500m FH X 5470420 JEE T =FEET

1 50/ ~60mEK#EBEF100m | il FHK—BF 13#51 JEE T =FEET

1 60/% UL 5BF100m MR = 1439 A E T = FRRT

1 hPZE~ 20K FEF100m | WE #3t 12821 AETAAE

2 HRFEZE~20KHHF100m TR HH 12723 JEEATAFIET

3 hPE~20%KBEF100m |  Ki§ FHiE 12830 AE T ERET




FITEEHTRERAR—YREFE—E(JL—) SH5410A78 (1)

NE sz %3] F—LA K41 K42 K43 K#4 iC %

1 INERSERZFA4X100mR |V 1-TRELREBE |TEA EKk06) SH #E0) HE FHOG) aE EBE06) 15310829
2 INEIRBELFA4X100mR  JEEATIL=FB/INER HE #FE®G) ZH E¥O) HHE #HEEG) 4l BHG) 1512567
1 INERBEBF4x100mR  [JEEHMIM A R/INER s EEG) KR KF5(5) 225 PN = 6)) FEg  EEG) 157 10%04
1 | MNERLZEBF4X100mR [EAD2=7ELHE |WEH #A®G) A %1206) Kix F5#(4) fERAR ZEAX(G) 140556
1 FER1ELXF4X100mR  JEEHILE —HER KA £(71) =B =) mEm B7a0) RE BREW) 5675
1 PEREFFERFA4X100mR EEHTIE—FFKA |FIH DXQ) W EXRO) AR $9H002 |BERX HLFEO) 5740
2 | PEREFELF4X100mR (EEMMLE—HFEKC |BE #H330) AR DED) Eim BERQ |[AT F&REO) 5901
3 | FEREFELXF4X100mR EHTILZMBHFERA [EE F2) #H AREQ) AR #EF(2) R ENQ) 59%p21
1 PERIEBF4X100mR  [EATIE-—HFRA (Ll FEWD) e 280 HhE 1) fEIsF BEK() 52788
2 PER1EEF4X100mR  JEEWILEZ PR Je# REt(1) AR =W |£& BWEW s F&(1) 57#33
3 FERIEFF4X100mR  [EHMILE—FFKB |[KE BL£0) BE HEAEM  |RES 7R B 35100) 58¥#93
1 PEREZEFF4X100mR [EATILIE-—HFRA |MTH EREQ LR PNO) 1T]:: R ) WiE &) 51¥)68
2 | PEREFEFF4X100mR [(EATMIE—HFERKB |[EX #HKQ) o %2 HH EQ2) i 2 5212
3 | HEREFEREF4X100mR [(EATIL =P 2R 8X0® MR Bl2) BRI —ER(2) fiaig X—@1) 53766
1 BF4x100mR SREIEASFER |(KiH FE WE #ht R & SH B 47%98




